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—8085 @ USRI Ale T 2?7 fawaR 9 a8y |

What are the addressing modes of microprocessor 8085? Write in detail.

OR

STl &ATh B WIFIARY & foIU Udell oivdol Ui forRau | sgar
geardrg gRome oft forRau |

Write an assembly language programming for the transfer of data blocks,
also write the expected result.

U amse @1 Afaa 9vf| BT |
Describe IC 8155 pin out with diagram.
OR
ges ReR ((RTea & THIAT d1acx) Bl aHegy |
Explain weighted register type D/ A converter.
foTdel, STeT foid T Aead oRR @ BRI P auie IR |

Describe the working of physical layer, data link layer and network layer.
OR

A UPR & SIS B JeT BIFTT |

Compare the three types of
Aisd Bl IR | 98y |

documents.

Explain in detail model.
OR
P foaR | fader S |

Discuss in detail.
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Note : Section'A', containing 10 very short-answer-type questions, is compulsory.
50 Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A" has to be solved first.

Section - 'A'

futukfdr viryikh ¢'uk d mikj ,d ;k nk okD;k e nA
Answer the following very short-answer-type questions in one or two

sentences. (1x10=10)

7o 1. SCR&T F¥ded uRRuer a=1sil |

Draw equivalent circuit of

U= 2. TR Bl JaleXVUl qdX aﬂTGﬁ|
Give operation of with example.
U 3. ¥ fhds dIgc B MTITHAT Bidl 27

How many bytes are required for LX/H,7050 instruction.
U 4. TRIAC & §1GC Pl qial |

Represent the construction of
P.T.O.
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¥ grar g?

In which IC there is key lock out mode.

6. 8085 H SR BRI @I A & folg &M M Ugad Bl Sl

&7

Which is used to display interfacing in 80857

7. A H Ut @1 @ eref g 2

What do you meant by entropy in information?
& T %Y forr |
Write full form of Attp and html.

9. A & RAIR Fige & Y daR BT gd b1 =19 Iqmei |

What is the name of the fourth number layer in OSI model in the receiver
side?

10.faf~T R & casd STl R 87

What are the various type of network topology?

Section - 'B'

fuEukfdr y% mikjh; c'uk d mikj 150&200 °Kn Dhek e n

Answer the following short-answer-type questions with word

limit 150-200 (3x5=15)
1, BT BRIAR, e AEd a9 |

Explain working of with neat diagram.

OR

TR ImeRd gRuer &= 87

What are based circuits?

2. JHfed XTI BT ISENUT Aled xSy |

Discuss arithmetic instruction with examples.

OR
<1 bl & AT B T wieedl ofvdot uram forRa |

Write assembly language program for adding two numbers.
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R 4.

IR 5.
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HIICR BT PRABNI Rgid AH=MSY |
Explain working principle of

OR

HIdex BT AHSY |

Explain ladder

TSGR ¥ 37T &N FHS 87 HY FISoR b A [y |
What do you mean by browser? Write the name of fine, well known
browsers.

converter?

ISISEY

converter.

OR

EEIR CRT AW Uleidbidl Bl Hfera § JHssy |
Explain in brief the Hyper Text Transfer Protocol.

q BT Gferd # 9arsyd |
Explain and in brief.
OR
dedt # iR TRy |

Write difference between OSI and model.

Section - 'C'

fuEukfdr nhk mikjh; ¢'uk d mikj 300&350 “kin Bhek e ni
Answer the following long-answer-type questions with word
limit 300-350 (5x5=25)

JAATEAS Th & MR W DI AT AT B
TS |

Give the structural description and working of UJT with respect to
characteristic curve.

OR
Rerae= gifers & 9 # gRyer &1 fada=r ST |

Discuss UJT circuit as relaxation oscillator.
P.T.O.
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